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QUESTION 1

What are Operator Profiles used for?

A. to enforce role based access control for Aruba Controllers

B. to enforce role based access control for ClearPass Policy Manager admin users
C. to enforce role based access control for ClearPass Guest Admin users

D. to assign ClearPass roles to guest users

E. to map AD attributes to admin privilege levels in ClearPass Guest

Correct Answer: C

QUESTION 2

Refer to the exhibit.
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Exhibit 2

Switch-1# show ip route
IP Route Entries

Destination Gateway VLAN Type Sub-Type Metric Dist.
10.0.0.0/30 VLAN10OOO 1000 connected 5 0
10.0.0.4/30 VLAN10O4 1004 connected 1f 0
10.0.0.8/30 10.0.0. 1000 ospf IntraiArea 15 110
10.1.0.4/30 VLAN104 104 connected 100 0
10.1.0.8/30 10.1.0.6 104 ospf IntraArea 200 110
10.1.0.8/30 10.1.0.6 104 ospf IntraArea 200 110
10.1.1.0/24 VLAN110 110 connected 50 1]
10.1.2.0/24 10.1.0.6 104 ospf IntraArea 250 110
10.1.3.0/24 10.1.0.6 104 ospf IntrahArea 200 110
10.2.0.0/1¢ 10.0.0.86 1004 ospf InterArea 110 110
10.3.0.0/16 10.0.0.86 1004 ospf InterArea 110 110
127.0.0.0/8 reject static 0 0
27.0.0.1/32 ol connected 1 0
Switch-1# show ip ospf neighbor

OSPF Neighbor Information
Router ID Pri IP Address NbIfState State QLen Events Status
a.8.2.2 1 10.0.0.2 BDR FULL 0 € None
3.3.3.3 1 10.1.0.6 BDR FULL o 6 None
4.4.4.4 1 10.0.0.6 BDR FULL 0 6 None

Traffic between the servers m Area | takes a less optimal path rather than the link associated with VLAN | OOO, subnet
10.0.0.0/30. Based on the exhibits, why is this the case?

A. The metric on the VLAN 1000 interface is too low.

B. Switch-1 and Switch-2 cannot achieve adjacency on VLAN 1000 due to mismatches.
C. OSPF routing switches choose the best intra-area routes based on Area 1 links only.
D. The link between Switch-1 and Switch-2 has gone down.

Correct Answer: C

QUESTION 3

OSPF is configured on an AOS-Switch, and the network administrator sets the router ID to 10.0.0.1. The administrator
wants to be able to reach the switch at this ID from any location throughout the OSPF system. The administrator also
needs the router ID to De stable and available, even if some links on the switch fail.

What should the administrator do?

A. Make sure that 10.0.0.1 is the IP address on the VLAN with the lowest ID.

B. Configure 10.0.0.1 on a loopback interface, and enable OSPF on that interface.
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C. Configure 10.0.0.1 as a manual OSPF neighbor on each switch in the OSPF system.

D. Configure 10.0.0.1 as a secondary IP address on the switch 00BM poet.

Correct Answer: B

QUESTION 4

Refer to the exhibits.

Exhibit 1
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Switch-1(config)#
Switch-1 (config)#
Switch-1(config)#

Switch-2 (config)#
Switch-2 (config) #
Switch-2 (config)#
Switch-2 (config)#
Switch-2 (config)#$

Switch-3 (config)#
Switch-3 (config)#
Switch-3 (config)#
Switch-3 (config)#
Switch-3 (config)#

Switch-4 (config)$
Switch-4 (config) #
Switch-4 (config)#
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spanning-tree
spanning-tree
spanning-tree

spanning-tree
spanning-tree
spanning-tree
spanning-tree
spanning-tree

spanning-tree
spanning-tree
spanning-tree
spanning-tree
spanning-tree

spanning-tree
spanning-tree
spanning-tree

mode
vlan

mode
vian
vlian
vian

mode
vian
vlan
vian

mode
vilan

rapid-pvst
10-13 enable

rapid-pvst

10-13 enable
10-11 pricrity 0
12-13 priority 1

rapid-pvst

10-13 enable
10-11 priority 1
12-13 priority 0

rapid-pvst
10-13 enable

The network administrator enters the commands shown in Exhibit 2. What is the spanning tree status on Al and A2?

A. Al towards traffic, and A2 blocks traffic.

B. Both Al and A2 block traffic.

C. Al blocks traffic, and A2 forwards traffic.

D. Both Al and A2 forward traffic

Correct Answer: D

QUESTION 5

Which is a valid policy simulation types in ClearPass? (Select three.)

A. Enforcement Policy

B. Posture token derivation
C. Role Mapping

D. Endpoint Profiler

E. Chained simulation

Correct Answer: ACE
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